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( Basics of Income Tax I

1. (a) ET{ {fi }R6ffi ffl $-{r : Lx4=4

Fill in the blanks of the following :

(i) 

- 

qT$ q{I 10(u TCs qIIFF-fi eKI

c+{R fiil ?<q qz< trtT S qrc +tI

4qI
income is fully exemPted

from tax u/S 10(1) and such does
not form part of total income.
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2l

tr, 2'i23-24 T-{ frd<q <ft <]-3 qq{
6<j-7-=-< {t{T so (c) qft{E
;c--=;.a Si? fi< o',R 

f

For the Assessment Year 2023-24,
ai'i assessee can avail deduction
u t S 80 (C) to the extent of 

-.
,::, 0--04-1999 Efi${ Ftw freq qTI st

:t'q< <Kq 6qt<t qtcFt seFlv W< sffo
+t-q qem 

- 

frsf, fretT Tr', <tq

?'px r

Deduction for interest on loan
raken for construction of self-

occupied house after 01-04-1999 is
allowed up to actual amount or
f, . whichever is less.

/iul {r<ft q]s 

- 

q-fl& qsrs:K "l-{
bq"rg R{ r

Capital gain arises from the
transfer of 

- 

asset.

(b) E-{o ftTrc<t< $ut' cl tt' frtt : Lx4=4

Write 'True'or'False'of the following :

f, qrs{ qTflR-sE q-{q-fr qq{ <l&{ 1b vtr
frd<q $-<t q{ r

Total income of a Person is
determined on the basis of his
citizenship in India.

24P/L2O5 ( Continued )



3)

/;, -,-? a i; ---z€-i- {qI{ rKl-{lk ftl

J.l--:-:::,: :"i, -s a deduction from

E Ea : -{ r-;r '=_: 16 +Jcf s-{filflTHD I

:-l:'-=='-- -- :,:',\'ance iS a fUlly
: 

--.4---

r.:. -zt" il l=- 7 TtT RWet tt-q<
3 j E"-l-- -

-:-::-g j--- . ^ errins house will

== :i-.::.: . : ,: *rder the head
--:::-: 

=-: :- - - 
--:-e : sources'.

2. (a) 19a - :-< =-ra z-;a 1O <l1li5 UCn'q F-q1 fr
F .. 51 .. 

=E = ,, F.-E< Rva u$-+ <tnm
a-
L\:-a:i: = ::-:: -:--',' fourteen incomes
rr::::- a:e e-rr-;:'- S 10 of the Income-

1,4

. -:.
.4\ .-._ _. -:, _

-?1- -T

(b) !;F, 3 =rr-5:- :-'3 I 6rsl fr.'fl : 3vzx4=14

\\'r::e s:-:- ::cr:es ::: 'rne following :

, =_--I tr'

a--: ^.. -:-:--,-__-.S -,-ea:

(it a<;e
I ___^^^_-rSS:SSie
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3. la)

(lr{)-

141

rr4 <1

Person

ful ='<#+ rqls \flT qnl{rgt c<l-sil

Residential status and incidence of
income tax

ji. a-< frrc <{, 2022-23 6ae qn qTRE

e= ?:n-s T-{t stfi :

It{r. A has the following income during
the previous year, 2O22-23 :

0 T{ 6q-q-2,60,000 tr{'l

Basic salary{2,60,000
qT qrrfl{fl)-/tri r<ftn <ED (T<rqq

40,000 Fsl

Dearness allowance
salary)-{40,000

/ar/ ftTr <rqu (frfih qk-cqrcrA<

6,OOO rft
Education allowance (for

children){6,000

/iul €<R0s r{<H q<t rs{ EM ffiq "rkffiq
4frQq-6s,ooo bsl

Rent paid for a residential house at
Guwahati--f 60,000

(u/ S{ El-sl1<l;i6-48,000 tSI

House rent allowance-{48,0o0

three

24Pl L2O5 ( Continued )



(s)

(u1) -F ET?T? e-f<l "r4{ qq ffiqs
<7---e-{ ?::z "- : -< !|qA Tq\il< q?H

:=r: ..--- r=- -FQ-{ | flqffi< :FFt"tl

<5 -.i'c!a <t* <,<iRq

-{e :-: :ft--- :::',rded with a motor-
c;.: :: - ! -:=s e:rgine capacity for
--:: :i--.--, --: :ersonal use. All
eE3€:-S:: :: -:-: =OlOfCa.r afe bOfne

-' _.=:__-_':.

(tryt, -d <;z-z ^:', €TfrAtg SffiR?e
=:*<;a.1? ._-a - s'< rtc-flqp6Rq:fqgg

-s< =j.--i; .<- =-6Effi

tu
(trc.,

(tx)

He cmtrfus 14o/o of his salary to
arecognimdprrovident fund and his
pmp&ryrer alsr contributes the same
amormt

@lg*dffiefi'F 13%qnsw{r
qr{rTfrffrimk 13,ooo t$r

Int€resf, redited to recognized
porridmt fud @ 13% amounted to
rl3,ooo

G& fifrqfiK qnq ftrn+.6R
25,(xlo tEr q<DTRRE

M€dical eqxns€s paid by his
employer{25,OO0

24P11205 ( Tum Ouer )



(6t

@ fr.a-cl 1&as +.F{ <r<k 2,500 trsT frcq
rknq rRRq

Ir{r. A paid il2,500 for his
professional tax

2A23-24 +3 1{{ <fG q1TqI-{ oFI $,ffq'{ CRKI

=qtqqgl
Compute the income from salary for the
Assessment Year, 2023-24.

qfur / or

(b) ;-;- 3rfl-fi EffiRq fiT(T qErS{ qR{,
1961-< ffiflE <l<-q'rTqilfl T-{I I

Explain the provisions of the Income-
tax Act, 1961 with regard to different
kinds of provident funds.

4. (a) fr. x .{h e1q-q-t&r qrfrs | ffiRE

rcd< e;{-q-t&q "m etg q{ fr-qtq q<t 
'

Mr. X is the owner of a house property.
From the following particulars, compute
the Income from House Property for the
Assessment Year, 2023-24 :

L2

L2

12

("T-{ T{JT{{
Municipal Valuation

r (tr+l)

1,O0,000
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(")

ET5 ==
Falr Re:::

_:_-:_ _
=-"- 

;.*-?= ;;r? \,l-vil

S:a:c-: i:::: :xei by
-:^,^-..-
--c 

r!--_-

TGfl)
1,20,0oo

1,10,000

- r"- -_'_-'---)rt)2 etR3< fit {lRfr
tg.c,!rl E:-f -,r- -=-- E-! q-sloTT 6EIT-qn
3O-Cr9-lr-ii =-a-;< - <fr ER qfr ftQq 1

cet<-< ..=- 7:-= r* i= <TA iE 'tR lryIRq r

ai---2-2,1'22 ?-<l! E<eh T{q {lRfr
--=- 

-
\ -4.-'-!' - - - > .' ?' )

Ti:e :::use n-as -e: :ur rv.e.f. OL-O4-2O22
fo: ='J.COC r = i',':::ch was vacated by
the :e:la:.l: or 3l-119-2022. Since, then it
reca-:led vaca::: ::: two months. From
0l-'-2-2A22 i: ii-as again given to rent
,@ 7'-2.000 p.=
E<= :o-< e< =-;= -r- f+i-Cfrq T{-rlT{T
2C,. :

11::::c:pal tax paii for the house-2O7o
o: =uiicipal va-luacon

G<-=, -<-q ffi T<" <_T-BTI S,ooo
Repa:s. electricirr', etc., paid--{5,000

Tr---t i.*r< <3 5at.<1. $T{ eof4v 1sq
olR;-" =----la 27,+OO

Interes'. on monev borrowed for cons-
truction of house property-i 27,4OO
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(b)

s. (a)

{81

q?lr / or

?trFr =t--<l $T o1-{l $g r4m' fi1-e-fre qgy-e-'-

:rr ?ta qTfiTqft ftr qr6qru-{r r-{r I

\\har are the incomes which are
c:ra:geable to income tax under the
read Profits and Gains of Business or
Frofession'? Discuss.

i** qF5 fr t RmA{ T{{ft qts qr+
*ffi 1rrft erw vwv 'frcf$r cql€Kl I

F6 eN{ 'KI 6qIdt qrq fr{tq r-ffi flqfr

L2

ill <TTii F-{T I

What is capital gain? Differentiate
between short-term capital gain and
long-term capital gain. Explain the
procedure of computation of income
from capital gains.

ffi/ or

(b) q{],Tll Gqq{ fl<t fltg qE fid<fi <16( qB-s-{

qE{, 1961 -{ <r<qn{q affi qrals-a E-<r 1

Discuss in detail the provisions of the
Income-tax Act, 1961 for determination
of income from other sources.

2+4+8=14

t4

24PlL2O5 ( Continued )



(e)

6. (a) fr. f-< Qr= <t, 2022-23 5-{s q1 qiF
frfra',,r :='ta 

=a= 
?;F{ T<l fifi :

Mr. Y has ijie following income and
investment Curg the previous year,
2022-23 :

?(trr)
50,000

6qe T< E]F< <=:
Exempted House Rent

Allowance

f"ffi<rau
Uniform Alloq'ance

?3=tr{E so|<= Fa? <-ED

Tqffi{ (sfrqr$
Basic Salary (per month)

mEI-gFIlFtE
Horrse Rent Allsrance

Official E><penses on Uniform

$ el.tst-o
l.eave Travel Concession

eqc qE etl o-re;

Exempted Leave Travel
Concession

E-.J€T] Tq-{-flfr< qT '

lncome from Let Out House
Property :

House I
House II

40,000

10,000

25,0O0

25,000

90,000

75,000

80,000
1,20,000

(T\trn Ouer )24PlL2OS
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rFn)
\fifi-{ts:rq "m SISylrt:
Inc.ome from other sources :

qffi .ffitb& s'F{E {o 4o,ooo
lnterest on Savings Account

8,3C {<-( sftqE T-67 1,50,000
Deduction under Section

5tD (3lr qR-d\5 s-67
Deduction under Section 80D

€ ERng "m re.dq Fr fid<q <{
2023-24-< <fCT Tit 'fRCn<-Aff q.lT fr-d"t.f
Fll
From the information, compute his
taxable income for the Assessment year,
2023-24.

qfut / or

L4

(b) 
==e f;w15 <rrut n& {-{ :

Explain the following :

(4 c'l+-< +$"m

Income Tax Authorities

(u) 80C qt$ 80D Et{l< sl-cflb T-67

7x2=14

Deduction under Sections 8OC and
80D

24PlLzOs (Continued )
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z. ffiRs ftTF:"< <T qrlr{ qRl, tgot-< ffi18
<l<EIrT xla <-;", e< : 3x2:6

Explain rhe p:or:slons of the Income-tax Act,
1961 rrirh regard :o dre following briefly :

ta) eBrq fi6fl{
Adwnce paymmt of tax

(b) la<;=?T -,*ttr
Capital Assets

24P11205 (Turn Ouer )
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Paper: GECCOM2 (B)

( Sales Management I

1. Ea,E Fr'fiFr< St' o tq' frq1 : lxg:g
Write True' or False' of the following :

(a) <ftr'e fr-fi qo G r

Personal selling is a profession.

(b) fr;s eq{ RcF-ic-K,n?R+ eq r

Inteiligence is a physical quaiity of a
sa-lesman.

(c) frF qrr{r E? qbr fr6t sfuK ffq fl{T{ Td r

Closing of sale is the last step in the
process of selling.

(d) U<T frc@q q'E 'rffi frrq-sT qq $ercslet-{
qlq-q 6.FKq{ ffitwrsft I

Retail seller is the last link between
wholesaler and consumer.

(e) TdRfl-qr E? Rrqsr {ffiq< qtr qgffiq
Eqq I

Coliege is ern internal source of
recruiting salesman.

CI qq-{ frrs-eQ ,fiRxfr$r roR ft$ %-&ztl
<,iPflT T\flh(fi< frA TfirEUq {Dq T-6{ I

Commission method of remuneration
preferred by a salesman, when sales are
falling.

24Pl LaOS ( Continued )
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(g) ffi ura< <s:- frfr fiTql-s qEffi 461 I

Allocauon oi sa-Xes territory makes sales

controi inefieceve.

W 't{K {rf,{rff qq fiq"tcq ffi filgq +0q
iFtrt I

Iletcrsiuatiorl of sales quota makes

sales control diffiatdL

z. vqg f;.nr<-{< fr 6qTr;.' Efti< e{<\5 51 6t'ot fr{t ,

4x4=16

Write short notes on any four of the

following :

(a) fr.6 u+

Sales cYcle

(b) frftq srn

(c)

Tlpes of selling

<r{{]]Fr TlZ< frwq fik+
Distribution network for business

(d) R:e ofm cK'[ cqrctlTfl

Motivating sales Personnel

(e) FEiq flffi €-+s

ImPortance of sales territory

24Plt2o5 (Turn Ouer )



3. (a)

lt4 I

qfu;= R-A< q\Br fim r <lGrc fr.&<
:r.rr= <l,wT T<l r 2+12=14

Dei-rne personal selling. Explain the
objecuves of personal selling.

qR<t / or

(b) <rr.--tF q(fl5{E ffi <i-<enqtq ssg{ R'{-fi
E-l?-fii $il I

Discuss the importance of sales
management in business organizatton.

?6 qiab{ qbn qEH ftm q+ fiA flRbr{${
efo-qtt u1t+ <f+t o-+t r 4+1o=r4

Give an outline of sales organization
and describe briefly the functions of
Sales Manager.

ryR<r / or

L4

4" (a)

(b) frfr <IRA< \flTrn
qT,K ftftq TTI

ffuq A 3Sr ? frA <Rft{
Otmlg u$+ wzarum

s. (a)

T<T I 4+LO=L4

What do you mean by sales force size?
Discuss briefly the factors affecting
sales force size.

fr-A Fftr q<g.r frn r qq{ qrq R.fr Tft{
€qrTqqTCEIDql T-{l | 4+70=1.4

Defihe sales personnel. Discuss the
qualities of a good sales person.

24PlLzOs (Continued )
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afut / ar

tb) fiffi en*ff E r+rfrErq{q tz-fl{ $<t r

sftsfr fik,rqkqq ft ftr u$+ wznroat
rFTl I 6+8=14

Merrtion tlre berrefits of training of
salesman. Wtrat are different methods of
training of salesman? Discuss briefly.

G. (a) frff cotfi xtrt fr ? €;<r c$'rlta fr{r<q q{r
q{ ? csffi fi{i<"< r?r s,,+ q${r<T{ ft ft t
uTt+ qz-4ni q< 2+Q+3=14

What are sales quotas? How are they
fixed? What are the advantages and
disadvantages of h-xing such quota?
Discuss briefly.

4k,,/ or

ffi q6aq qza ft: ffi qrErr fiftq< frBa
tneq{q6 ft, q]Za-T;T +-fl 1 4+ro=14

What do you mean by sales territory?
Discuss the various methods of
establishing sales territories.

(b)

24Pltz0s (Turn Ouer )
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Paper: GECCOM2 (C)

( Career Planning and Development ]

1. E-E "r- 
FTq $fl' 6 frq' fr{t : rx4=4

\{nre n-hether the following statements are
'True' or False' :

(ol ffiqlF{61
lFfFl I

+.{utA< qtu-{qq qbt

Leadership behaviour is a form of
employees behaviour at workplace.

(b) <-B-+ 6{MI qRs r€fr'S qrc ?. qFflr <16{

tm-fr <r€{ri.N rcrfiFr gfrm FC< t

The external career is more objective

and represents the realistic possibilities
available to us.

{c) frF'&{ c+re-+r c+mft< trGNlFt q6q EeF{

=qq {"qq I

Linkedin is not a source of information
for the research of a comPanY.

(d) $Sft-r {lrclzt cwelv +'SA{a< ft-+tm c$lcrfl

gR-e ml:FFc< I

Career development does not have any

role in retention of emPloYees.

24P I t2O5 ( Continued )
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2. sEE Fr'."-< ? 95 E.?El< e1<s 51 6fOf fr11 t

Write sho- :io:es ,3n

folloxing :

(a) 6oRr'< +tFe
Career counsetrling

(b) qqlw w
Holland's theon'

(c) ${fr-fi fr-sl.tr q'ErEP

Career development goais

(d) q-fiTr.os

Resume

(e) <reEq 3r$Frtr
Personality typolo gies

A req< eFFF-rv-[

Personality types

(a)

any four of

5x4=2O

the

FRrl< q(<r{ {tfi ft TF ? fr&r fi6Fr
a€Rr< {{ffi{ R{c WF qnq.lqt mt I 4+Lo:14

What do you mean by career anchors?
Discuss briefly the various types of
career

24PlLzOs
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(b)

4. (a)

(b)

(18 I

qRtt / or

a-^€'€ FSR< ftFx qru<qq fivcq qbl 5T

-rd F-<- I

Write a brief note on the various types of
emplovees' behaviour at workplace'

;-:*fr+ qr-fB< lenq\5 T{5.IftT -fi qlD-{"l6ls

F'T< asK q-ft( qrcEID-{ T-$ |

Discuss the impact of behavioural traits
of empioyees on otgar:izattonal culture'

ffi/or
frBF efflr1q ql5<r6t6ls Cfi"m$ aqRs n-{I

l+nnTqTqqZ-qID-{rT-{I r

Discuss the factors alfecting the various
behavioural traits-

14

l4

L4

t4

s. (a) mt-{A-{ q'rc ?ll ficE fr lqT ? '{h c+l-"nfrr

{'r6HI FqK +-ffi €Tq qrcq'Io--{l T-{l | 4+lo=14

What do You understand bY comPany
profile? Discuss the importance of
creating a comPanY Profile'

qft{r / or

(b) sl-{-IIsIsH-{ ese< fl{-Cqr<ls aqqaTl
gurMft{ flqcsflqT{qTrElD-{ T-{I I

Discuss the essential steps to be taken
during the pre-interview preparation'

24PlL2O5 ( Conttruted )
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(b)

{1eI

(a) $ffi-<-d< ksr- <B-rq ft prr pffiaaq fr-fl1ig-
3fs< (elz-a--El:,r-,',ilTq<fit nTI I 4+1O=14

What do you mean by career develop_
ment? Enumerate the factors affecting
career development.

qfr<r t or

FrrQ<_d< frsnr fifrx ffi,HqTqs fu-c.T qfr
q'ml5-{I qlsK@E 

r

Discuss the various types of career
development strategies.

I

24P/t20s (Turn Ouer )
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Paper: GECCOM2 (D)

( Risk Management I

1. (o) slao f;{Tffir< tul' 6 frql' fr{l, : lx4=4

Write True' or False' of the following :

(, EtcqEr+q Rt's cs-{E stB< bryN

q&s frs u$o tq cilzr 1

'OPerational risk' involves risk
associated witJ. technolory onlY'

(it) 'qfr< qrl-f fi+w<q' fr"t'i <i<qPr+K

qS.SIft{ TN I

ldentifYing loss exPosure' is a

one-time task in risk management'

(tO \q-ArT q€rs-{' 3IR-{ {qtq frfi qsls-fi

qR{rs rlf<54 rR{ 'rtR I

T'{on-insurance transfer' can be

implemented through transfer of

risk to external entities'

[u/ R{n< srffse{ frffi $Ta"H]s qR r{r<

s-{$ eqR\o afu ffiq I

The nature of risk can influence

retention level in risk management'

24PlL2O5 (Contiruted )
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(b) Eqo fiT <re }?"<T< Tq n-{r : tx4=4

FiX in the blanks of the following :

0 Rffi <Fqrer{r s&T< aT-{Er ryqffi
E?_r
The initial step in the risk manage-
ment orocess is

/r, frs flrdqctE qq'&T ,Bm
fr"rm EfuE rce qHERE TqlE qrq
qrcTTef Fa< I

approach in risk m€rnage-
ment focusses on shifting the
potentiai risk to external parties.

/rry RSEifr frQq <l<l-{]{s-q "F"r TR< C{lirFil

frtr+ Rfi fi v;rr {Er r

The risk of not meeting short-term
financial obligations is known as

- 

risk.

(iu) 

- 

RsK qqg {qs{TorfoT sr
qRrflq r-+-{K wrfir vfu iq cflrc 1

B/pe of risk involves the
possibility of non-pa5rment by
borrowers.

24Pl12Os (Tltm Ouer )
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2. g6e ?il<-<-< fr 6q-61uRA< s'Fls DT 6r'or fr?II t . - -4x4=L6

Write short notes on any four of the

fol1oning :

(o,t "73tc Rfi
31'stematic risk

tbi =-fuIqm€<
\ on-insurance transfer

(c) ?'iqD-fi erl-{

'IlPes of retention

(d) ,F"rfrE arT

CaPtive insurance

(e) @et Rs

Credit risk

Rq caqr{ts 6rc5n tR-c{q

Payrng losses in risk management
n

3. (a) Rs crzrq-6q.$ ft r Rs flzqszTt (fifi
<r+{"l,Til flt.+{K fr&a qT ctt< fiq(.{ qleE.r5-{T

qfl | 4+10=14

What is Risk Management? Discuss the

various stePs in risk management

process.

24PlL2O5
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qfut / or

(b) P., art"r+rc ffi< qr"r.f' {rc{ ft r tGq
x-r{tr+s-oqq flfq,Tm Rtel qrcqlu-{'r r-ql r

4+lO=14
What is loss-exposures'in risk mange-
ment? Discuss about the process of
identitying loss-exposures.

4. (a) frsFRe{frs< lEft},iaftftr fuffiffisa
grslRo T.-<T TI<+FI[-{ frqm qTrqTE-{ $-{t I 7+/= 14

What are the methods of risk financing?
Discuss the factor influencing risk
financing.

qRqT t or

(b) R$ fref{DT ft z frefd}T cqcsam frq1Ts
$I<-srT{{ R'qcT qlrETtr{^l T-{T r 4+16=14
What is risk retention? Discuss the
determining factors of retention level.

s. (a) sfuurro fr"t r <r+qPFT ffuq m Tw ? <r&qe
fr"t'i <tqql'mr EflE q&s fir{FepTq <rHjI
<F-{T I 4+l1=t4
What do you mean by personal risk
management? Drplain the steps involved
in personal risk management.

24Plt20,s (rum Ouer )
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qt?<rt / or

(b) <l&rc R{,r <-<qPm\o R{,n qr"'rf F-6mr{
qqg q&s ,FrryH{{< eq<s eh 6tot frqr t

Write a note on the steps involved in
analyzing risk exposures in personal

risk management.

L4

6. (a) tq"rnor+q Rt' fr ? 6isr{€ q{-6r5fiq

frq< Em qFF eEIiK frvcq <lmfi T-qI t 4+5+5=14

What is bperational risk'? Explain the

causes and impact of operational risk in
banks.

&<t / or

(b) ?qK Rs' rtra ft ? TeFK Rt (Rfi) "IREreat

TR"<tq Girqrq <,<rq<t rR-{qftnT ffil-qr1tl
fivcq q.qIE-{ T{r r 4+tO=t4

What do you mean bY tnarket risk'?
Discuss the strategies that banks
should use to manage market risk.

.l

***
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